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G g & ] [ 14,974,301] 65.9/[ 7,685,121] 48.0 7,289,180 | 194.8
) & 332,780 | 1.5 619,364 | 3.9 4286,584 | 53.7
izl & 4,732,993 | 20.8 1,869,505 | 11.7 2,863,488 | 253.2
7 # & 6, 460, 668 |  28. 4 1,757,596 | 11.0 4,703,072 | 367.6
ST B 4 3,447,860 | 15.2 3,438,610 | 21.5 9,250 | 100.3
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(& iE & E] ( 7,745,195) 34.1[ 8,323,941] 52.0 ab78,746| 93.0
B K E T & B ( 7,625,195)| 33.6/( 8,203,941)) 51.2 4578, 746 | 92.9
b=/ 7,625,195 | 33.6 8,203,941 | 51.2 578,746 | 92.9
EBEEZTOMDEE ( 120,000)] 0.5 120,000), 0.7 100.0
H % & 20,000 | 0.1 20,000 | 0.1 100. 0]
Z A R GE & 100,000 | 0.4 100,000 | 0.6 100.0
& E & B 22,719,496 | 100.0 16,009,062 | 100.0 6,710,434 | 141.9
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|G g = &) ( 4,471,340) 19.7|( 4,589,575) 28.7 a118,235| 97.4
g 1 A & 2,771,889 | 12.2 3,205,266 | 20.0 4433,377| 86.5
* A 4 855,411 | 3.8 1,263,569 | 7.9 408,158 | 67.7
K HOE N BOE 790,100 | 3.5 70,000 | 0.4 720, 100 [1128.7
i3 U & 53,940 | 0.2 50,740 | 0.3 3,200 | 106.3
(& E = &) [ 17,721,000] 78.0[( 20, 462, 000] 127.8 42,741,000 | 86.6
B 8 & A & 5,586,000 | 24.6 6,762,000 | 42.2 41,176,000 | 82.6
B & A & 12,135,000 | 53.4 13,700,000 | 85.6 41,565,000 | 88.6
= &' a B 22,192,340 | 97.7 25,051,575 | 156.5 42,859,235 | 88.6
(I BR Bt ] ( 527,156]  2.3|[ 49,042, 513) 456.5 9, 569, 669
& ¥ &
(IE BR Bt ) ( 527,156)| 2. 3/( 49,042, 513)| 456.5 9, 569, 669
) IF Wk S pE 58 0 A 527,156 | 2.3 49,042,513 | 456.5 9, 569, 669
1IE Bk B PE R B AR 527,156 | 2.3 49,042,513 | 456.5 9, 569, 669
M AE E & &t 521,156 2.3 9,042,513 | 456.5 9, 569, 669
aE-MEESG 22,719,496 | 100.0 16,009, 062 | 100.0 6,710,434 | 141.9
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5t + =1 31,111, 615) 100.0 7,039,209] 100.0 24,072,406 | 442.0
r# Y — v % E Lk 29,752,395 | 95.6 6,516,159 | 92.6 23,236,236 | 456. 6
¥ B Z Ot W A 1,012,470 | 3.3 1,012, 470
7 o= ROk E 346,750 | 1.1 523,050 | 7.4 A176,300 | 66.3
5t £ IR i) 742,319] 2.4 263,222) 3.7 479,157 | 282.0
ft: A & 742,319 | 2.4 263,222 | 3.7 479, 157 | 282.0
5 £ R % & B 30,369,236 | 97.6 6,775,987 | 96.3 23,593, 249 | 448. 2
[BRFEERUV—AEEE] 20, 859, 372)] 67.0 15,731,064) 223.5 5,128,308 | 132.6
B X N & £ & 9,509, 864 | 30.6 48,955,077 (a127.2 18, 464, 941
(8 % 4 U 2] 968, 716] 3.1 2,838,640]) 40.3 41,869,924 | 34.1
% i Q| B 16 0.0 40 0.0 a24 | 40.0]
x BB Y & 200 0.0 200 0.0 100.0
A I A 968,500 | 3.1 2,838,400 | 40.3 41,869,900 34.1
(8 % 4 & H] 118,769) 0.4 203,640] 2.9 484,871 | 58.3
X R8O Bl OB 118,769 | 0.4 203,640 | 2.9 484,871 | 58.3
# 8 N & £ & 10,359,811 | 33.3 46,320,077 | 489.8 16, 679, 888
HREIATH MRS 10,359,811 | 33.3 46,320,077 | 489.8 16, 679, 888
EYN N EREV N QO = i) 790,142 | 2.5 70,000 | 1.0 720, 142 [1128. 8
BLE - REFC L AMEBBDULR MBI 45,800 | 40.1 5,800
E - T T | 9,569,669 | 30.8 46,384,277 | 490.7 15, 953, 946
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& = B fMEpty = 2 Ry = B O|% L
& = W M 6,649,224 | 21.4 4,986,918 | 170.8 1,662,306 | 133.3
e 5 + £ 4,943,892 | 15.9 3,449,859 | 49.0 1,494,033 | 143.3
HE e 200,000 | 2.8 4200, 000
H 5. 120,000 | 0.4 120, 000
=S =N < B 1,489,466 | 4.8 907,536 | 12.9 581,930 | 164.1
@ F E A # 213,591 | 0.7 19,650 | 0.3 193, 941 |1087. ()
¥ % £ it % 642,000 | 9.1 4642, 000
T G D B 545,225 | 1.8 384,908 | 5.5 160,317 | 141.7
i 5 # 222,450 | 0.7 109,020 | 1.5 113,430 | 204. 0
2 S # 253,108 | 0.8 134,799 | 1.9 118,309 | 187.8
ar fF & 1,772,890 | 25.2 A1, 772, 890
5 TN (- G < < 578,746 | 1.9 656,139 | 9.3 A77,393 | 88.2
MooRk 3 K 1,819,000 | 5.8 1, 819, 000
& [ B 284,960 | 0.9 298,040 | 4.2 413,080 | 95.6
AKoOE e B # 874,917 | 2.8 480,623 | 6.8 394,294 | 182.0
H i %% 622,077 | 2.0 232,164 | 3.3 389,913 | 267.9
i & Y OFE S A& 1,233,960 | 4.0 518,506 | 7.4 715,454 | 238.0
i i N B 82,300 | 0.3 76,100 | 1.1 6,200 | 108.1
¥® ok B o= % 9,626 | 0.0 9,626
K H B & # 248,000 | 0.8 126,500 | 1.8 121,500 | 196.0)
# b # 494,320 | 1.6 696,000 | 9.9 4201,680 | 71.0
E = by 42,000 | 0.1 21,000 | 0.3 21,000 | 200.0
M # 132,510 | 0.4 18,412 | 0.3 114,098 | 719.7
a 5 20,859,372 | 67.0 15,731,064 | 223.5 5,128,308 | 132.6




